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(3)

This Question Booklet contains 40 Multiple Choice Questions
followed by 10 Short Answer Questions.
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Attempt as many MCQs as you can. Each MCQ carries 3
(Three) marks. 1 {One) mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. If more than one alternative answers of MCQs seem
to be approximate to the correct answer, choose the closest one.
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01. Whichs {-wt true for reactions b-y the S“Zé mechanism ?
(1} proceeds through a backside attack and results in inversion
(2) tends to proceed with weak nucleophiles solvents ke CH O,
H.O. GH.CH CHL
(3) rate of reaction proceeds [rom primary (fastest) > secondary »»
teruary (slowest)

(1} occurs 1n one step

02. Which is the main product of the following reaction ?

PN MeOH

f cl+ NaCN

(A VAN DIRVAYAS

NC Cl
B e ¥ e @ N

Cl

03. Which of the following conditions is necessary for a reaction to be

spontaneous ?
(1) AS,>0 (2) AS,>0

5¥S

B8] a8, FaS.»0 (4) aS,,t AS, <0

Sys SV

04. Dead organs arc generally stored in formalin. Formalin is
(1}  aqueous formaldehvde (2) aqueous ferrous sulphate

(3] aqueous formic acid (4) aqueous ferric alum



RET/16/TEST-B ' 987 /Human and Clinical Genetics

05.

06.

07.

08.

09.

Regarding “carbon credits”, which one of the following statement is

not correct :

(1) The carbon credit system was ratified in conjunction with the
Kyoto Protocol.

{2} Carbon credits are awarded to countires or groups that have
reduced greenhouse gases below their emission quota.

(3) The goal of the carbon credit system is to limit the increase of
carbon dioxide emission.

(4) Carbon credits are traded at a price fixed from time to time by
the United Nations Environment Progrmme.

Ball bearings are used in bicycles, cars, etc., because :
(1) the actual area of contact between the wheel and axle is increased.

(2) the effective area of contact between the wheel and axle 1s
increased

(3) the effective area of contact between the wheel and axle is
reduced

{4) the actual area of contact between the wheel and axle is reduced.

During respiration, energy is released. It is stored in the form of :
(1) ADP (2) ATP (3) NADP (4) APP

Which of the following is known as Royal disease :
(1) Sickle cell anemia (2) Haemophilia

(3) Alzheimers disease (4) Colour blindness

The xylem mn plants is responsible for :
(1) transport of water (2} transport of food

(3] transport of oxygen {(4) transport of amino acids

5 P.T.O.
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" 10.

11.

12.

T ]

Two wires, of the same material, have their lenghts in the ratio 1:2

and their diameters in the ratio 2:1. 1f both are stretched separately

by coual weights, the ratio of increase in their lengths, L0 L, would
by
1y 1:2 (2) 21 (31 18 4) &1

svendismology is the study of :

(1) Ligaments and bones
<

(2) Syndromes % i
(3) Jownt articulations and ligaments

(4) Monstrols

Malacology 1s the study of :

(1) Shells (\1 (2) Mollusces
L
(3] S

Muscles (4) Mammals

13. The technique which helped in deciphering DNA structure is

14.

(1) X-ray crystallography {2) Electron microscope

a
(3) Spectrophotometery - (4) Histochemisty
Electic field 1s used in scparating chemicals in :

(1} lon exchange chromatography

(2} Electrophoresis

(%)  Thin layer chromatography

(4)  Colum chromatography
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15. Mincral element present in cytokinins :

(1} otassium A 2] Zinc
P (g ™

(3} lron (4) Manganese

16. Purines possess nitrogen at :
(1) 1,2,4 and 6 positions 11 (2) 1,3,5 and 7 positions
(3] 1,3,7 and 9 positions " 4) 1,2,6and8 positions

17. Nucleosome core is made up of :
(1) H1,H2A, H2B and H3 @w (2) H1,H2A H2B and H4
(3) H1,H2A,H2B,H3,and H4 ~ (4] H2A H2B, H3 and Ha

18. Number of Barr bodies in human female suffering from Down syn-

drome would be :
2 }
(1} 3 (2} IC (3) 2 (4) zero
19. Adaptor molecule is :
(1) mRNA Gr\ (2) rRNA
(3) DNA (4) tRNA

20. Microsatellite sequences are repeat units with base pairs :

(1) 1-6 C\ (2} 5-30 (3) 11-60 (4) 20-100

21. polyploidy is induced through :
(1) Colchisine \ (2) Irradiation
(31 Mutagenic chemicals (4) Ehtvlene

7 P.T.O.
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22.

23.

24,

25.

26.

27.

987 /Human and Clinical Genetics

fodine 1s a component of :

- \
(1}  Nitrcate reductase @ (2]  Hormone thyroxine

(3)  Hormone TSH (4) Nitrogenseae

Water is end product in :

{1] Glycogenolysis @}\ (2) Hydrostatic skeleton

(3) Respiration (4) Carbon assimilation
3ide chain of amino acid is complex in :
(1} Glycine (2) Valine
3
(3) Tryptophan “~—r" (4) Alanine
Two strands of DNA arc held together by bond of :

(1) Nitrogen @ (2) Hydrogen

{3) Oxygen {4) Carbon

Ozone is absent in :

(1} Troposphere @ (2) Mesosphere

(3) Stratosphere (4} lonosphere

Which of the following has heen basic to origin of life :

(1) Carbohydrate (2) Proteins
(3) Nucleic acid @ (4) Nucleoproteins
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28. Frequency of an allele may change in isolated popuiations due to :

29.

30.

31.

32.

(1) Genetic drift @ (2)

(3) Naturals {4)

Recombination of genes occurs at ;

(1) Prophase of mitosis @ (2}

(3] Metaphase of 11 of meiosis  (4)

Cranial capacity of humans is :

(1) 915 cc C\\ 2)
>

(3) 1600 cc (4)

Vision of cockroach is :

(1) Monocular 6\ (2)
s

(3] Mosaic (4)

Formation of platelets in known as

(1) Tlaemopoiesis @ (2)

{3)  Hacmolysis (4)

Mutations

Gene flow

Prophase of 1 of melosis

Prophase of 11 of meiosis

1470 cc

1700 cc

Binocular

Superposed

Thrombopoiesis

Haemodialysis

P.T.O.
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33.

34,

35.

36.

37.

The back cross is:
(1) Across between FILU individua) and F2 individual

3 s s : . Wi = d v + " . [
(2 A cross hetween an 1 individoal with another 91 individual

——
./ '

o . ; A
{3 Cross between F1oand one of the two parents \ o
—~—

{4} Cross between F2 with one of the parents

A dominant trait is expressed in

) Homozygous state only \
2] Hcterozygous state only U

{
t
(3) Neither homozygous nor heterozygous states
t

1) Both homozygous and heterozygous states

Chromatid is ;
(1)  One half of chromosome, (2) Haploid chromosome.
(3) Complete chmmosom@ (4) Duplicate chromosome.

A normal women is married 1o acglour blind man. The children are

expected to be

{1)  All normal

(2)  50% sons are colour blind

(3)  All daughters are normal but carrier whereas all sons arc nor-
mal phenotypically as well genotypically

(4} 50% daughters are colour blind

Process of genetic mutation is ¢

(11 Reversible \\ (2) Jrreversible
(3) Partially reversible 4 (4) Continuous

10
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38. Map distance nf.gt-'nes 1s calculated Iby :
(1) Number of mutant gencs @
{2) Cross over percentage |
(3] Non cross-over percentage

(4) Recombination frequency of gene locus

39. Philadelphia chromosome occurs in patients suffering from :

(1) Leukimia G\ (2) Rickets

(3) Hepartitis (4) Albinism

40. A muted gene that causes cancer is called :

(1) Mutagen

(2) Carcinogen
{3) Oncogene

(4} Human Papilloma Virus (HPV)

11 - . P.T.O.
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Short Answer Questions
Note: Attempt any five questions. Write answer in 150-200 words. Fach
question carries 16 marks. Answer cach question on separate page,
alter wiling Question Number.
01l. Write short note on Restriction FEndonuclease.
02. Briefly describe about the Pharmacogenomics.

03. Elucidate the chromatin structure by drawing suitable diagrans.

04. What are the steps for Fluorescence in Situ Hybridizations

(IFISH),discuss in detail ?
05. Discuss how Fanconi anacmia genetic test s QBT
06. Discuss in detail how invasive-prenatal diagnosis is done.

07. What is the principle of High Performance Liquid Chromatography

(HPLC) ?
08. What is immunotherapy ?
09. What is Homocyserinuria,discuss in detail ?

10. What is Assisted !-h?pmc{t:l('tivc Technology (ART).

12
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Question No. o Pégé for Short Answer
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Question No. ' Page for Short Answer
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Question No. | Page for Short Answer

16



RET/16/TEST-B 987/Human and Clinical Genetics

Question No. . Pngé for Short Answer
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